Evaluate the followfng integrals.
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Evaluate the following integrals.

54 6x~3x

[l [

P 42x 4+ x

2 v _“‘%)(4 é —
X 2 )2 e O+ Ox +bx +5
e e
é)\,{z J ?)3(”—# L x
65 |+ bX

SCORE: /60 PTS
(o] [sec® x
L= — x=0v"
Adx=2uduU
@iZu sectudu _g_ Av
()u%m)u il 'S&Cul \4%?:(;%)
@L_-—-—f e i @ < ‘I'Cb-\()

e
j("gY*(‘D g Y, T ’;ﬁ— (\)( 1>2—>CI,>(
s ,%Xa*bx+5)n ‘,_]/,thx,\.,l—f ¥
" s (X
@ ® @ O
Ssiale s S 0 g
Wy 1 mnjj
LSfC’?x” = A3 Bx(xe D+ Cx @)
e 5' LAY
we-: -4 == — (C=H
X2t A=A R— RB=-9-A=-|4

SANYTY CAHET. :

- XE>)
Sl ds =
—r Wik e ek
s
D e -
2 T I RomeXe D3
= 55
2 =




COsSX
FldJ e Shx =0 — smx=—| & x= a1 SCORE: ___ /30 PTS

1+smx
J%‘E kg e J"-r PR g J::Zi\i- o Uz |+5m ¢
0o lt+Smx 2 e By ST du)-‘cos‘,\'clx
@L__ i ) J’l%clu
\L il = Inlul
@ il‘—:/\i:ff \Y\l |+S‘hyl CL( il ] |-’r’51h7(]

= \\\m 1n\!+5m!\11
(B ‘
a0
@L___-\
| KT C/_’éﬂm/‘ DIWVERGES

@




